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Pharmacology = tecures

1.all following about tetracyclines are TRUE EXCEPT -
Select one :
a. Effective against Gram positive and Gram negative bacteria
b. save patients with renal diseases
c. causes yellow discolouration and hypoplasia of teeth in Children
d. Should be avoided in pregnancy
e. used in treatment of Mycoplasma pneumonia, Chlamydia infections and acne
ANSWER*
2.Which drug affects the growth of cartilage?
A. Penicillins
B. Cephalosporins
C. Sulfonamides
D. Flouroquinolones
E. azoles
Answer: D
3. All of the following T1 teratogenic drugs Except:
a) Vit A
b) steroids
C) ACE inhibitor
d) Thalidomide
e)isotretinoin
Answer: c
4. Which of the following is used safety in pregnancy:
a) Erythromycin
b) Doxycycline
c) Moxinoxacin
d) Gentamicin
Answer: A
5.Aminoglycoside side effect:
Answer : Ototoxicity

6.All following about tetracyclines are TRUE EXCEPT?
a Effective against Gram positive and Gram negative and anaerobic bacteria
b Should be avoided in renal disease except doxycycline and minocycline
C. Causes yellow discolouration and hypoplasia of teeth in children
d. Should be avoided in preghancy
e Useful in treatment of Brucellosis, Chronic bronchitis and acne
ANSWER*a




Pharmacology = tecures

7.phocomelia is due to ingestion of the pregnant woman of the following drug?
a Thalidomide
b Sodium Valproate
c. Aspirin
d Lithium
e androgen

ANSWER*a
8.Concerning pregnhancy, pregnant patient should be wam about the following except:
a Smoking
b. Alcohol.
c. Over counter drugs
d. Drug Abuse
e Milk

ANSWER*e
9.Concerning preghancy, the following drug does not demonstrate any risk to -28
the fetus if ingested in adequate dose?
Select one :
a. Alcohol
b. Narcotic Analgesics.
c. Androgens.
d. Thalidomide.
e.paracetamol

ANSWER* e
11) Which of the following is correct regarding pharmacokinetics of pregnant
women?
A. water increase 20 liters
B. phenytoin concentration is unaltered
C. albumin level decreases

Answer c




